D
>/

m&ES E-06

X=-135000. 000
Y= -41000. 000

X=-134700. 000
Y= -41000. 000

(\%j‘

o150 2.1 14.62

-
©150 1.36 16.77

©150 2.59 1970

10
‘¢ 09\0 .
)
3Gl \8€0§¥

T

S B

0561 G T 09
o0 6

\

\ Q150
Oz 230 15 3,

/

S —

X=-135000. 000
Y= -41200. 000

X=-135000. 000
Y= -41000. 000

SHM4E3 ARE

XANHETKERIR

y

IHETSE

y

1/500

Om 12.5m 25m 37.5m

50m

ERRYET, BRI HRMAEZITOTT I,

D-05|D-06 | D-07

F-05|F-06 | F-07

% |

di
R
)

fl,

INOEAFL

ael (11 1]

Y = Al

©
:

O~4 =5 AFl

<

,
©
@®

H~65 Al

8= Afl

95 A4l

1A

(] |B2~42A%

BRAAFL

R AL

mIEAFL

AL

o
S

Mk ZE=E

A AT

MAFI3IHO

MAFLA50

BisE

A~KS AL

N s

Hro

Fru I

HFz— A3,

=
@ - |—AF: 20X DORON0 : I DEB :

<Mt - 8

o
al

AR

xRk

18 i35 g 7K #

Frw ik

IR 7

TTITITR

T R EBE

E Ef%ﬁfis;@% Hf] AR
. 3 e

VU ©200 3. 98% 25. 40m

O

3 720 3 620" ©
FREES ThEES

E%?Eﬁﬁ%ﬁﬁmzﬁﬁﬁ
v & v
VU ©200 3.98% 25.40m

3720 3 620
EmEES ThREES
n N T B #%

EiiE B BUEILE BIEH

Ny
|—0 ©150 2.76 13.59

Fi

SN

!



